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Section 1 - Paperl-English Language
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1) Select the correct form of verb from the given options.
Most babies when they are sleepy.

A) have been crying
B) cries

C)cry

D) cried

2) Find the most appropriate opposite meaning word:
BELITTLE

A
B
c
D

Disparage
Exaggerate
Scorch
Criticise

— — Vo

Read the passage and answer the questions that follow:

There is an obvious difference in the way battles have
been fought throughout time. Early battles were probably
fought between rival hunting bands as disorganized mobs.
However, during the Battle of Megiddo, the first reliably
documented battle in the fifteenth century BC, actual
discipline was instilled in both amies. However, during the
many wars of the Roman Empire, barbarians continued
using mob tactics.As the Age of Enlightenment dawned,
armies began to fight in highly disciplined lines. Each
would follow the orders from their officers and fight as a
single unit instead of individuals. Each army was
successively divided into regiments, battalions,
companies, and platoons. These armies would march, line
up, and fire in divisions.Native Americans, on the other
hand, did not fight in lines, utilizing instead guerrilla
tactics. American colonists and European forces
continued using disciplined lines, continuing into the
American Civil War.A new style, during World War |,
known as trench warfare, developed nearly half a century
later. This also led to radio for communication between
battalions. Chemical warfare also emerged with the use of
poisonous gas during World War |.By World War I, the
use of the smaller divisions, platoons and companies
became much more important as precise operations
became vital. Instead of the locked trench warfare of
World War |, during World War I, a dynamic network of
battles developed where small groups encountered other
platoons. As a result, elite squads became much more
recognized and distinguishable.Manoeuvre warfare also
developed with an astonishing pace with the advent of the
tank, replacing the archaic cannons of the Enlightenment
Age.

Artillery has since gradually replaced the use of frontal
troops. Modern battles now continue to resemble those of
World War I, though prominent innovations have been
added. Indirect combat through the use of aircraft and
missiles now constitutes a large portion of wars in place
of battles, where battles are now mostly reserved for
capturing cities.

3) Which of the following was recognized and
distinguishable during World War 11?7

A) Poisonous gas

B) Locked trench Warfare
C) Elite squads

D) Mob tactics

4) Guerrilla tactics was used by which of the following
groups?

A) Native Americans
B) European forces
C) American colonists
D) Romans

5) Armies started fighting in highly disciplined lines from
the

A) World War Il

B) Age of Enlightenment
C) World War |

D) American Civil War

TechofworldIn

6) Which among the following did Manoeuvre warfare
replace?

A) Artillery
B) Tank

C) Cannons
D) Missiles

Pagel1of23
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7) Which of the following new styles were used during
World War |?

A) Guerrilla tactics TeCh OfWO rl d - | n

B) Dynamic network of battles
C) Radio for communication between battalions
D) Mob tactics

8) Find the most appropriate opposite meaning word:
AWARE

A) Apprised

B) Inattentive
C) Cognizant
D) Receptive

9) What is the plural form of Wolf?

A) Wolves
B) Wolvies
C) Wolfs
D) Wolf's

10) Select the correct option.

Do you remember person whom you saw in
the party last night?

eaee 1 €CHOTWOrId.IN

B) an
C)a
D) the
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Section 2 - Paperl-Education and General Awareness
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11) UNESCO facilitates the development of evidence
based policies in response to new trends and
developments in higher education so as to achieve

A) Minimum Level of Learning

B) Common Minimum Programme

C) Millennium Development Goals

D) Minimum Education Programme

11) gereal 99l 9in AEeR JVER 92 654 6 IR
gogaIea grl 2IGe aRdgdea QR @98 |

A) Faig A9t 29

)
B) Qriiad aadq Ridiga
C) agqio1 §a18 aay

)

D) q@@q dgl RIdige

12) Which of the following skills was proposed regarding

Secondary Education, in Revised Programme of Action,
19927

A) Reading skills

B) Writing skills

C) Communication skills
D) Computer skills

12) Gorug 6ReE 1992 GRIgQe 6QIgEl AT AIFER
6269401 Ig6adE AR 999 FaIAIReRI?

A) 9@l @aQ!
B) engal @aQ!
C) adal @ga!
D) afoQ Q86!

13) Graphite and Diamond are the

A) allotropes of Carbon
B) isotopes of Carbon
C) isomers of Carbon
D) isotones of Carbon

13) QITIRG @ 210 6228

A) QI8 Q ZIBRIESIE,
B

)
) GI9] Q 2IRCAITY
C) Q16Q Q 2RI
)

D) Q18] Q 2IREAIETI]

14) Which of the following commissions recommended a
four year training course after senior secondary, or
preferably a 5 year course leading to graduation and
training for school teachers?

A) National Commission on Teachers-|

B) Secondary Education Commission

C) National Policy Statement on Education
D) Indian Association of Teacher Educators

14) GaeIQ 699 *fAs d8afIee TR @F afe d81 asa

QI3 QEQ QIR AI0IGS, Z2IQ ISR TR Y@ 5 Qd Q AIOIGH
9 QIRE QIRE G gjem?

A) gyiaeiq efas 2o §od-I

)
B) 6a6a4ia1 9geade @fde
C) qyR5IR ORd 6896019 8Q 9gERaR
)

D) e@2ie 216QIENAe 2T Foa geaed

15) Read the following statements with regards to the
Legislative powers of the President of India and choose
the CORRECT option.

() The President has the power to convene and prorogue
to dissolve Lok Sabha.

(i) The President nominates three members to the Lok
Sabha from the Anglo-Indian Community.

A) (i) is FALSE and (ii) is TRUE
B) (i) is FALSE and (ii) is FALSE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (ji) is FALSE

Tarhnfinnrid In
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15) QIO AT RIS 98 FTLEQ F6a Q2R
ABYe g 8 A0R TRT 99F A9G |

(i) 6AIRAR Y9G FAQl 9l O @l dR AT KASR &3
QYA 2T

(i) QAYAG 26G-d42e AFINQ AIRARY GF ¢ ART

A6RIFC RAAIAETR |
Techofworld.In
A) (i) am 6 (i) O
B) (i) @@ 6 (i)ga
C) (i) 6@ 6 (ii) O
D) (i) O= G (i)gR
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Section 3 - Paperl-Reasoning
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16) A cando a work in 12 days and B candoiitin 15 days.
If they work on it together for 6 days, then what part of the
work is left?

16) A 691G Q@I1q 12 GR6Q RAAIRR IQ° B 62T QI KGQIQ
AIgie 15 @0 | 9T 627168 A8 @@ 6 G0 QI PAES FIEREM |
76860 QI 9F ade

17) Instruction: In the following questions mark:
1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
S is the husband of P. How is K related to S?
Statement | : K has two sisters.

Statement Il : K is the mother of P

17) GeaaIeaT: FORYe gqsa
1 596 Qg 98 669% F13QY | AILIVYER J4a RAQ SAARUIQE
|

2 599 @9g, 99 6% 18y || A26QIF6R J4Q AR TR
<Igg |

3, 98 QR | 9e° |l 9L6ITER Y9a AEa G2IKIR QIS |
4, 93 g4a 960 6069 & FaIgIR afe QIF |

S 62983 Pea QIFl1 | 9I626m K& 92 S&a afq a4l ?
1894 | KQ 9@6 G2 288 |

A8 Il : K 62288 Paa 12l |

>

g
AN oW

O

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

All lakes are oceans.

All rivers are oceans.

Conclusions:
1) All lakes are rivers.
Il) Some rivers are lakes.

A) None of the conclusions follow
B) Only Il follows

C) Only | follows

D) Both | and Il follow
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18) Geadlant 06p QARSI FISY 08Q GF Fad

QAARE | AREF FAYARYI TIMG AGY IR AR AR
Q06 @ 92 ARIIAGEQ TRl GAOIQ BR ISR | AR
fadq 0eg Ye° cla6a AaE fug, duIIReRl Fad aug
6ROGI ARINIER FEIER! PN ZRAIRR 29ElR A8 O
QU6 ALARE Q8 |

" Techofworld.In

dg 99 e Tk |

ag fa1gea agIaIea |
aad:
) Q9 8% g% q1 |

II) @8 91 gee 241

A) ealed § fadq 2Igaed @ag QI
B) caaq Il 29204 @98

C) 6aa@ | 29908 @og

D) @9 | 99 |l 2g9ed ag

19) In a certain code language, FOREST is coded as
6151851920. How will JUNGLE be coded as in the same
language?

A) 1021147125
B) 1021157125
C) 1021137125
D) 1021167125

19) 9@ F69 ACEEe QEIGE, FOREST Q U6a0 6298
6151851920, 4719 Q9166 JUNGLE Q 9626 @4 624 ?

A) 1021147125
B) 1021157125
C) 1021137125
D) 1021167125

20) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some pomeranians are bull dogs.
Some bull dogs are labradors.

No labrador is doberman.
Conclusions:

1) No doberman is bull dog.

II) No labrador is pomeranian.

III) Some bull dogs are pomeranians.

A) Only | and Il follows
B) Only Ill follows

C) Only I and Ill follows
D) Only | follows

20) Q6RGIAR1: 967 QULIRYQI A8 A8q @8 fad
QKRS | Kdg SRR F184g A4 691M AIRRIG OF
QT8 Q@ 921 ARIQEER FLIRIR! G2Y0IQ 8GR 6QH IR | AR
Fadq 0eg ¥9° QIg6q A94 Gug, ARSI Fad ArIQ
6Q9G1 ARIAIER IR FAIQ QAR ARSI FBUG OR
Q16 29204 *QF |

F18QY: 78 6UI6AATAR 62Q8B N @9 | 78 9N €9

690828 AIGILQ 1 67193 AIFIER , CRIFAFUIR gL3 |

¢ | echofworld.In
) 61613 6B1QQFMIR, gR G6| G6L |

Il) 641694 QIGIGR , CAIAGRAR Q&8 |

1) &% 9 20, 62988 6dI6aaRaq |

A) 6067 199° 11 29408 @9 |
B) @ 11l 2906 @03 |

C) 6ae@ 1 49° 11l AGA0E 29F |
D) 6aa® | G208 /93 |
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Section 4 - Paperl-Teaching Aptitude
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21) Which of the following teaching methods is Student-
Centered but NOT High-Tech approach to learning?

A) Expeditionary Learning
B) Inquiry-Based Learning
C) Personalized Learning
D) Game-Based Learning

21) BaRge a1 G 90 kI 6965 B1Q 6950 2160 B9 aYl
AR A 650R0 I8 618 g6%?

A) zagie ageie da

B) aoiaed aIite dal
C) qyagie dal

D) 65i@ 2rIGE Sl

22) Which of the following options was the aim of
Saakshar Bharat Mission formulated in 20097

A) To achieve 55% literacy at national level, by focusing
on adult women literacy

B) To eradicate female illiteracy from rural areas of the
country

C) To achieve 80% literacy at national level, by focusing
on adult women literacy

D) To bring down the female illiteracy rate by 75% in the
country

22) IR FRIQ 6296 2009 6a VA 6LIRYYS NG 98 @
QBR8N gmI?

A) Qg9 3069 55% ARG JIY @Rl AR, 90/ AFR)
ARG QPG| ATER IR 6256 @G

B) 604 60 9IN1161 681G 6@ AZRI FINEA FAYACI Q €7 @ AN
Qa9 A

C) aigia 90 69 80% AVAC| § 919 @69 dIa, A A8
AIRER YS! AT6R e 6950 9F

D) 6291 60 A1@%I AIewa FAYeCl @ 91 g 75% Adie 2SI
i

Join Us-

23) If you are a teacher of ninth standard, and shou

focus on the the study of child development, you wou
focus on the literature related to

A) Middle childhood
B) Prenatal period
C) Adolescent period
D) Preschool period

23) 9@ 2108 2a¢ 6941 K64 99, 8 JgQ SRR 2e

QEQ 2IR 6850 FRQI ZIGER, ZITE 669 ANFe ATRY QQE
IQ 696Q7

A) q1ie1 636Q1a9I
B) &g 9< &y
C) @edla 219y

D) Gam ace)

24) With reference to teaching in a cross-cultural conte»
'Low-context cultures' are

A) informal

B) formal

C) higher sections of the society
D) lower sections of the society

Techofworld1n

24) GA-ANCAIN ISR TPRR| AREER, ERI-AEST
AnNeAgER’ 6208

A) aeglaciae
B) @aciae

C) anieaq ae 96
D) qaiga &9 94
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25) Which of the following organisations was established
in the year 1925 to promote university activities in the field

of education, culture, sports and allied areas and is also
known as the Association of Indian Universities?

A) Higher Education Commission
B) University of Delhi

C) Council for Teacher Education
D) The Inter-University Board

Techofworldin

25) 1925 cdeeq 88, 9B, 1P 99° AN 6996 9
AR QdIRRI0] 69080 /89l AR T AUQ QR
A YUG FAULIRYN 9° 9@ AT AT FFAR

D) nqeq, 0Gel, 286-0g2m, Qda, ga-8aear, 9F o
2RI KGR, AR QDR

27) SWAYAM is a programme initiated by the
Government of India, and designed to achieve which one
of the following cardinal principles of Education Policy?

A) Self analysis
B) Examination
C) Evaluation
D) Access

WtsApp/Call- 8596976190

959d5q QI96a A RAIGAI?

A) o a8 adan

B) @q1 39 Sauma:

C) dae da adee

D) 2193-39Gu00 6916

26) Learning Pyramid depicts different retention rates for
various teaching methodologies. Which of the following

options is the CORRECT sequence of the retention rates
in the ascending order?

A) Reading, Lecture, Group Discussion, Audio visual,
Practice by doing, Teaching others, Demonstration

B) Lecture, Reading, Audio-visual, Group Discussion,
Demonstration, Practice by doing, Teaching others

C) Reading, Lecture, Audio-visual, Group Discussion,
Practice by doing, Teaching others, Demonstration

D) Lecture, Reading, Audio-visual, Demonstration,
Group Discussion, Practice by doing, Teaching others

26) §al dafie §8ie dRI 0eGgEe QIR 668 2G agel S

2 IRl 4O | AIRQ 9F GAER GF FREYER IR 6965 aA
QYR 2I0Q AR ge17

A) 9G4l 6RReq, ga-6Aeaq, 206-GgaIm, QA @8 2eIQ
@09, 2FYIRG 9IRS, A

B) enqoq, 0@l 206-Gg2In, 9gu-69ear, adal, @K @d
R KRR, 2FHERG ALK

C) 0@ql, énqeq, 8@6-AGg2IR, gU-6299a, QN @ 24
@AQ!, 2RHIRG ARIRGI, Q€I

27) 996 (SWAYAM) QIS 2919 19l 2108 QAIIRIS! 9
QTN QLG F6qIP TR A 69E0 TIAR FAQ AN 9
QAUNRE IR IVMER FHY CRGYES F1:Q 63IT-q?

A) 21 aenal

)
B) aaual

C) gruiee

D) geed gsail

28) Which school of philosophy believes that only
materialistic world is true and there is no true spirit.

A) Pragmatism
B) Realism
C) Neo Realism
D) Idealism

Techofwortd1in

28) 6097 9gLIQ1 QAR AGY ¥G° 6AIT QB KR Q1T 69
606 Q4649IY §91Q q6a ?

A) gelgiqle

B) qigqeie

C) aqy qige9ia
)

D) zigdqle
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29) Skinner conducted his experiments on the following
animals

A) Pigeons only

B) Pigeons and rats
C) Parrots and pigeons
D) Rats only

Techofworld.In

29) 39a OIF IQINIGHR FIRAHS 699 U4 AUCA FELER ?

A) 629 ARl
B) aiqi 6 @
C) ga1 6 al
D) eqeq 8

30) According to Pratham’s Annual Status of Education
2013 report, Which of the following is a great concern
about class-appropriate learning?

A) There is a teacher shortage of 689,000 teachers in
primary schools

B) Only 53 percent of schools have functional girls’
toilets and 74 percent have access to drinking water.

C) Nationally 29 percent of children drop out before
completing five years of primary school

D) Close to 78 percent of children in Standard Il and

about 50 percent of children in Standard V cannot yet
read Standard |l texts.

30) ge9e 9ol 990 d9ia Qe 86 90eq Q6aId AGAI,
6961-R0YD Q19 68Q FIAYS FAIQ 69A6 Y@ 521Q !¢ ?

A) glaifie FQIng geesa 689,000 89 e 2188

B) 62Q@ 53 9040 QU6 @l 69I0Ra 8 74 goaQ
AF6Q 91 FRQ ]I QER |

C) cIo1aeasa 29 go9e dal gidie d9Ie Areed ged
@891 g9Q Q0 8188

D) q1g 684116 g1 AIMIAIY 78 IoHIS B 8¢l 684116Q
AIHQAIG 50 g9 TRI9 A 6841Q AI0 AT AIRRILIB |
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Section 5 - Paperll-Odia Language
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31) QIeQ QIg SRIddel 4@ ¢ § FI6R | 6ALIRE §8F & 9RIR
QA 89 ?

A) aigie 6 Gedla
B) aqicile
C) yuae
D) Gaampigie

32) 9FI6Q SRR 8 649 FI6R — CaNISE UeTea 6au T8
60 6RARE ?

36) ' 05 ' 990 ' 9" JBINeT a9 6a9 ada Aeop 98
621087

A) Q+a+aQ
B) e+a

C) g+ +a
D) q+q+a

37) ' 694Ql ' - 99 FAQ LYG UG FIRYS PP 6RGT 629
gelel ?

A) ggeit A) 6ag|
B) gotal B) 94
C) gom C) gg
D) agen D) 9&
33)'62 ' Mg § 696 A°YE PR AIFG?
38) grae =17
A) ql
B) g A) gieg
C) <Q B) gge
D) g1 C) gea
D) e
34) ‘9 goIRQl- QPG g @4 ?
A) gl IS 39) ‘A0 & IR’ gada ad @4 ?
B) 2141 @ og<| N
= > A) & 9Bl
C) gziedal R
B) Sesqie &g
D) ariaa qsaql
C) qaia 62g<!
35) BIRYE G 6RAE ‘FeaRIG’ 90 GRS R ? D) saia age!
A) qage
B) aquiee
C) zidelie
D) aiqieq

Techofworld.In
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40) QI Q186 RYE 96T | (AIFE 05 @ 9RIQ T689E A6RS

™' Techofworld.In

A) Gl QIeQ
B) Qeaiaugan
C) aqe Qlee
D) a@ qidia

41) GIRYS AUQ 69F UE deq FAQIG 60 ?

A) QR
B) acus
C) a@m
D) qow

42) 99N 99 99 9% Q'€ 699 ?

A) dag
B) Qqal
C) deie
D) §aup

43) RJOQ YR SR ANR AREEN | LIRS INTY 6DQ
AGQET RLIQ FALIRE ?

A) 2Q01991 G

B) G2l Qo9 Seaay
C) Qeasy

D) g2 Qe84

44) FORYS FIQ 699 AAAIT 2NA WA IR 6Q
QIS 621NN ?

v [echofworld.In

B) &
C) 2@

D) &i@

45) FIRNYES FIQ 696 ‘CAUTT 9 ARG G0 ?

A) Gequai
B) Gequa
C) aeauan
D) zcaiql
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Section 6 - Paperll-Mathematics

- Techofworld.In
Ifx =2.03, then/9x% —6x + 1 =

A) 6

B) 4.03
C) 5.09
D) 2.03

46) "0 = 2.03 gregeq V9x* —6x +1=

A) 6

B) 4.03
C) 5.09
D) 2.03

47) HCF of the four fractions 9/10, 11/25, 18/35, 21/40 is

A) 1/1400
B) 1/700
C) 2/700
D) 7/10

47) QI6QI5 @89 9/10, 11/25, 18/35, 21/40 Q 9.9, 6528

A) 1/1400
B) 1/700
C) 2/700
D) 7/10

48) If6x%- 11xy + 5y? =0, then x: y =

A)5:6o0r1:
B)5:6o0r1:
C)6:50r2:
D)6:5o0r1:

N = =N

48) 9 6x2- 11xy +5y? =0, Qré@ém x 1y =

A)5:60r1:2
B)5:60r1:1
C)6:50r2:1
D)6:50rd:2

49) If selling price of a product is doubled, the profit triples.
The profit percent is

A) 50%
B) 25%
C) 100%
D) 200%

49) QG 641G AMFIQ TG4 Y RS 6LINAIN 666Q 1LIQ
AlQ 3¢ 9491 NIKQ dG96 6268

A) 50%
B) 25%
C) 100%
D) 200%

50) If Set A has 3 elements and set B has 2 elements,
what can be the maximum number of elements in their
union set?

0O m>
N R G w

=}

)
)
)
)

50) 9@ 629 A 6 3 § QUIRIR G 69¢ B 6a 2 § QI9le 2T,
6QF1IRG A°6LIG 62T6Q ATRP 6RERIF ATIFIR AFAIRG?

.2 Techofworld.In

C)a
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51) Calculate the volume of a rectangular solid whose
length is 12 cm, width is 8 cm, and height is 3 cm.

A) 278 cm?®

susame | €CHOfworld.In

C) 238 cm?®
D) 268 cm?®

51) 12 6afi 64y, 8 69f 6aIR, B 3 627 QWG 2l @
290109 2969 I8 7ag |

A) 278 ae 624
B) 288 Q@ 64
C) 238 Q@ 6ad
D) 268 % 64

52) Which of the following numbers has the highest
number of positive divisors?

A) 176
B) 99

C) 101
D) 182

52) 5 Qi FRIQ QIFIQ ATRE IR CATNR VIFR 2ARE?

A) 176
B) 99

C) 101
D) 182

53) The square root

(0.36)* &
1_0-36+ [0.36 + (0.36)" + 1] A
of is

A) 6
B) 2.5

C)1.25
D) 0.75

53)

(0.36)3

m + [0.36 + (036)' + 1]

Q QoF)R 6298

A) 6
B) 25
C)1.25
D)0.75

54) Calculate the circum radius of a triangle whose sides
are 7cm, 24cm and 25 cms respectively.

A) 11.5cm
B) 9.5¢cm

C)10.5cm
D) 12.5¢cm

54) 9% G9F Q Ttk AR GEFI FOF, 6INY6R QI T
@ea8 76Q8, 24626 6 25 634 26T

A) 115 6ad
B) 9.5 6qd

C) 105 64
D) 125 644

55) The mean proportional of a and b is V(ab) and average
ofaand b is (a+b)/2. f a=0.08 and b = 0.18, then the
sum of mean proportional of a and b and average of a and
bis

A) 1.25

B) 2.5

C) 0.025

D) 0.25

55) a 48° ba 2I6Ade 2QUIe V(ab) 9e° a 9e° ba ALA
aQAIe (a+b)/21 9@ a =0.0899° b =0.18, a 99° ba AT
FQAIR 9Y° LIQITIR 8GUI0R ANE 6268

Yz Tachofworld.In

B) 25
C) 0.025
D)o.2s
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56) What is the height of an equilateral triangle whose side
is 76 cms?

nema | @chofworld.In

B) 65.817 cm
C)72.815cm
D) 75.612 cm

56) N Q7RI G968 @ QPG! 6R6E 266, AITIQ A 76 637
2697

A) 82712 628
B) 65.817 6ad
C) 72.815 6<f
D) 75.612 64f

57) In a certain time interval, when 15% is lost in extracting
good quality of cashew nut, India can export 30 lakh tons
of good quality cashew nut. On the other hand, if 10% is
lost in extracting, it can export 40 lakh tons of good quality
cashew nut. The raw production of cashew nut for

exporting good quality by the country within that time
interval is

A) 200 lakh tons
B) 70 lakh tons

C) 300 lakh tons
D) 100 lakh tons

57) 9@ (88 400 RUIFER, BN FINQ FIg QIGIE AR GRS
696@ 15% 0F 949, 6J606R6R NG ABAIRE 30AT O] AIg
QRN QQIR1 KRAIER KT QIRIQ 9P ANLER 10% /)
I6E6Q 1@l 40RE 67 QARG Qg QNN QI @A, 6Q8
AAG QUIRUINER 69960 QLGS 621R2S ATIN AT RSN
Qg QTR AGIE 6298

A) 200 a8 0]
B) 70 a@ oQ

C) 300 7@ oQ
D) 100 7@ o]

58) The age of Alex 6 years ago was half of his present
age. What will be his age after 2 years from now?

A) 14 years
B) 13 years
C) 12 years
D) 11 years

58) 6 @d 4@ 2ERFR QA SITIA VEFIF YAAQ A YR |
QEFIRQ 2 @F U6Q 010 YUd 666 6297

A) 14 qd
B) 13 a8
C)12qd
D) 11 od

59) If a box has a height of 4 cm, a length of 12cm, and a
volume of 240 cm?, then the width of the box is

A) 5cm
B) 4 cm
C)3cm
D) 2 cm

59) 9@ 6915 99 @ 960! 4 64F, a¢ 12 696, 8 9Rq 240
6QE: 266, 6969 9F 6 PRGB! 26T |

A) 5 6ad
B) 4 cad
C) 3 6af
D) 2 sadi

60) If A ={3,9,14} and B = {1,2,3}, then A - B is equal to

vea Techofworld.In

C) {3}
D) {9,14}
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60) 9@ A={3,9,14}8 B ={1,2,3}, 6062 A - B Qi@

A) {39,14) TeCh ofWO |"| d . I [

B) {1,2,3}

C) {3}
D) {9,14}



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 7 - Paperll-Social Science
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61) Who among the following was one of the Nine Jewels

or Navaratnas appointed as finance minister during
Akbar's rule?

A
B
C
D

Man Singh
Todar Mal
Miyan Tansen
Birbal

s e

61) AR Qe ANYEQ FEAIBAINE FRIQ &4 AIAae (1
@4 964 g6n DR AR NER FYB 6ARYER?

62) Which of the following Constitutional Amendment Acts
is known as 'Mini Constitution'?

A) 58th Constitutional Amendment Act
B) 42nd Constitutional Amendment Act
C) 61st Constitutional Amendment Act
D) 31st Constitutional Amendment Act

62) GeAR IR 699 AARJIR AEIRIL FT AL AEA
PEIGAI?

A) 8req

B) ¥9oq

)
)
C) veeq
D) mega

63) In which state of India is the bamboo drip irrigation
practiced?

A) Himachal Pradesh
B) Jammu Kashmir

C) Kerala
D) Meghalaya

Join Us-

63) NIRGR 696 Y6TIER I TR FREIACR QA 6LRAIN ?

A) da19q gsad
B) q19 6 @919

C) exam
D) er@iea

64) What is the total length of a meridian?

65) Taxol is an antimitotic agent used to treat various

forms of cancer. From the bark of which of the following
trees is this derived?

A) Eucalyptus tree
B) Alder tree
C) Pine tree
D) Yew tree

65) G0R IRIAR FES 6QIT AUIR FALIER GHISTIRN , 97 INIR
299G Q1 96T 266. Y2 699 T84 8IRQ UYS 62IRaY ?

o oms Techofworld.In
)
)

C) alpg a8

D) qg o8
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66) According to Koeppen's Climatic Classification which

68) PERIB F1UQ G “QIF 6AQ1 A°Y'Q AR Ye?
letter code best represents tropical monscon climate?
A) §8.8q1
Techofworld.In 9 anvereas
C) @angr aea
D) Aw
D) 62210 S5l

66) 6RI609F ARG VNS AGRIBT, 6R4

< - . i 69) The country from which Indian Constitution borrowed
VAL AEQIQR WIER GIBIL 611G FRQILE QSIREIN the concept of “Speaker in Lok Sabha” is

A) Am A) United States of America
B) Cs B) United Kingdom
C) Belgium
C
) Af D) France
D) Aw
69) ARGIA ARIFEA "CRINARNIS ASIT” 689 629Q Q8
67) In which year, were the words 'Socialist' and 'Secular' 608
included in the Preamble of the Indian Constitution?
A) 1975 A) g8aIg 2I6a8%!
B) 1974 B) geaisy
C) 1976 C) can@aa
D) 1977
’ D) gig

67) 609 A1326a VIRGIG AFIFER delanlea delleQla e°

im . 70) Which among the following statements is TRUE about
FR6R 4R ATR 6LIRRI? 90° |atitude?
A) 1975 A) The vertical rays of the Sun keeps this place hot
B) 1974 lhrOUQhout the year
B) It remains frozen throughout the year
C) 1976 ) It receives vertical rays of the sun throughout the year
D) 1977

_Zlﬁd 90° latitude, thick deciduous forest are found

echofworld.In
68) Who among the following was the founder of 'Gandhi

70) 90 @@]‘I 2RI°g AR Qame @@GQ_@G' e [S=lo] &G
Seva Sangh'? Q0R 28l geK @98 ?

AGDBrE A) QuIed 9vead 43 Aieg 9F ARl 99g 98 a6d
B) Jamnalal Bajgj . H
C) Karamchand Thapar B) od 6aK1 ¥al @aeige adald
D) JR.D. Tata C) e QuIARY QIS AR QY OIKA Q6@
)

D) 90 891 2iarasa Q8 AdAIE 2edl 6eYRIg FeR

Join Us-
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71) Which of the following oceans is called a 'peaceful

sea'?

2 et Techofworld.In

C) Atlantic Ocean
D) Indian Ocean

71) 564119 C1UQ 604 ALIACAG ‘SR AT GRIAN?

A) géis 9211

B) 2106Q Agidiea
C) 21I5018] fQeQ
D) Quae aeiiga

72) In Vedic period, Horse sacrifice ritual was important

for establishing the authority of a king. This ritual was
known as

A) Vajapeya Yajna
B) Ashwamedha
C) Rajasuya

D) Vishwayagna

72) 964 QIFIFG 9@ 96VI6a 29eR1 MR 9eRgd gl
@ Q16 QU UGS

A) QIR6aa U8
B) aigeci

C) aiegs

D) Ggaa

73) Which of the following heavenly bodies orbits a
planet?

A) Comet
B) Rocket
C) Sun

D) Satellite

Join Us-

WtsApp/Call- 8596976190

73) G6qlla AUQ 609 ARG I8 99 goa 9ol Q8a?

A) yaeae
B) asaq
C) gaiy

D) aage

74) Who among the following conduct the elections for
municipalities in India?

A) State Election Commission
B) Central Election Commission
C) Legislative Assembly

D) Chief Minister

74) FeQRAIGE AUIQ @9 FIRAIRFIA FIIPR JERIRRI @eE?

A) Qi G100 afee
B) sag Galon afige
C) Quie Qe

D) gayaia

75) On which date, were the freedom fighters Bhagat
Singh, Sukhdev Thapar and Shivaram Rajguru hanged?

A) 23rd March 1931
B) 24th March 1931
C) 29th March 1931
D) 21st March 1931

75) 606 SIGE6Q @66 @°e, YH6IQ 2ITa Ye° FIAIA AIRGQ
TN AIRER?

A) 9N QIg R CMe
B) 9% qug eeme
C) 90 QIg eeqe
D) 9¢ qug ecqe

- 1 r
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Section 8 - Paperll-Science
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76) In which of the following plants, the stem grows
underground with an irregular swelling known as rhizome?

A) Potato
B) Ginger
C) Garlic
D) Onion

76) G 679 B06R, A1 AIF G6r AFade gRl age
QRN QI AREVIA GRIAN?

77) The Young's modulus of the material of a wire is equal
to the longitudinal

A) stress acting on it to produce infinite longitudinal strain
B) strain produced in it

C) stress required to increase its length four times
D) stress required to produce unit longitudinal strain

77) 4@ QI9Q ANYIQ AFT YO ALIQ AQETWY AR AAIR

A) 2910 21999 QI QYIS HF6S8 12| AR MY KR 1T
B) qgeq eqi@e o0

C) w2 6344 1594 9F IR AK8R I

D) 2g63dy 010 99Q gIee JIR 2ILE4R SId

78) Clostridium perfringens is an example of which
microorganism?

A) Fungi
B) Bacteria
C) Protozoa
D) Virus

78) 6RLGAN IOTEHR 676 IHFIAR IR VL1287

A

C) egieeiesiall

) @

B) cueq@a
)

D) aiqeq

79) A force acts on a 30 g particle in such a way that the
position of the particle as a function of time is given, x = 3t
- 412+ t*, where x is in meters and tis in second. The work
done during the first four seconds is

A) 490 mJ
B) 576 mJ
C) 450 mJ
D) 530 mJ

79) 30 gif 380 I8 g AUEQ Y@ aF YO8 QI gea!
RQAUIRI 64, T 9gQ HE AALGEF x = 3t - 4t + t 6Q dLBaN,
69R0I6R X{ITRER N9° { 6A6RG6R QBT YN 4 6ACKUER
QARG 621R2Q AITY 6298

A) 490 mJ
B) 576 mJ
C) 450 mJ
D) 530 mJ

80) Read the following statements and choose the
CORRECT option.

(i) Sporulation is a form of asexual reproduction which is
common in algae and fungi.

(i) Spores are special reproductive structures that may be
motile or non-motile.

TechoﬂNoHdIn

A) (i) is TRUE and (ii) is FALSE

)
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE
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80) §7) Q@gea J9eg 8 A0 998 996 /g |
(i) 6AIPENAR 6208 A FLIQ gIFF 9@ Q4 JILl AIRES G
ARRGeR 0169 ARIKE |

(i) 69IRYPR 2QF TV JFRE LRl U1 PRGN <l

SRR 621RTIGE | TeCh OfWO rI d ) I N

A) (i) 6ea@ 0 @ (i) 6298 am
B) (i) 6208 O 4 (ii) 6208 0@
C) (i) 6268 @ 6 (i) 6208 0x
D) (i) 6208 gm 6 (i) 6298 gn

81) Which of the following observations is INCORRECT
to determine whether a chemical reaction has taken
place?

A) Change in state

B) Change in pressure

C) Change in temperature
D) Change in colour

81) 4@ QUG 9oTR 62108 @ AIT CI2l FFI0d Qe AXER
YR 69Q ALV GR?

A) 219969 9898e
B) cigea adeas

C) QIaIgIea 0aieeR
D) a@se aeeee

82) The displacement x of a particle of mass m kg moving
in one dimension, under the action of a force, is related to
the time t by the equation t = 4x + 3 where x is in meters
and t is in seconds. The work done during the first 6
seconds is

A)0J
B)3J
C)6J
D)9J

82) ¥R 9FQ RIY 2RIINER 6T TT6R 9 @RS M 6aF
QgR 68 Y@ ANYIR FLIAR x| AILIE AR t = 4x + 3 FIQ
QAR AT ARG | 0I6Q X FITRER G t 6ACRLER QZEI g2 6
6960496Q ARG 621R2SI QIdY 6268

A)0J
B)3J
C)6J
D)9J

83) Read the following statements and choose the
CORRECT option with respect to the structure of a cell.
(i) Flagella are the small structures which work like oars,

causing the movement of either cell or the surrounding
fluid.

(ii) Cilia are comparitively longer and responsible for cell
movement.

A) (i) is TRUE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE
) (i) is FALSE and (ii) is FALSE
) (i) is FALSE and (ii) is TRUE

C
D

83) 60I0Y 6RITQ AEERI AN FIEQ  TAURINYLI
QULINYZR 963 6 400 G0 P99 @9g |

(i) 6O 6228 6815 A°GVR| QI IR A& QIF F6Q, AL
19 618 BI'A SIGUIHER QN CARYFR MmN |

(ii) 3Rl 21608190 AFI G 6218 SIRE AR QI |

A) (i) 6298 0% G (i) 6208 ea
B) (i) 62ag 0@ 6 (i) 6298 0@
C) (i) 620@ gm G (i) 6268 gm
D) ( )

) (i) 6298 @m G (i) 6268 0=

84) PbO(s) + CO(g) —= Pb(s) + CO2(g).
With reference to the above reaction, which of the
following is getting oxidised?

A) PbO
0 Techofworld.In
D) CO:
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84) PbO(s) + CO(g) —> Pb(s) + CO.(g). @8 965%I Q066a,

FANIQ 699 2AFRINT $I?

2o Techofworld.In

C) Ph
D) co2

85) Free fall of an object (in vacuum) is a case of motion
with

A) variable acceleration
B) zero acceleration

C) infinite acceleration
D) uniform acceleration

85) (§24016q) 6615 Qg I8 QIS Ugaem BILl QTR IR
QIILREI?

A) a8eeRdTs Qa4
B) g4 Qeel

C) aai qee

D) waga @

86) If more air is pushed in a soap bubble, the pressure in
it

A) becomes zero
B) remains same
C) decreases
D) increases

86) 9@ 99 AQR 6TIERIEA 2JQ A9 gal A, IR O1d |
62Q ?

A) g5y c2IRda
B) aqie a@e
C) afe

D) o@e

Join Us-

87) Read the following statements and choose the
CORRECT option.

(i) A genome is an organism’s complete set of RNA alone,
excluding all of its genes.

(ii) Each genome contains all of the information needed to
build and maintain that organism.

A
B
Cc
D

(i) is TRUE and (ji) is TRUE
(i) is TRUE and (ji) is FALSE
(i) is FALSE and (ii) is FALSE
(i) is FALSE and (ii) is TRUE

— o

87) &7 @@9ea 999 6 90 98 098 K93 |
(i) 9@ F6RIF 6207 69T 19Q AIRIGIQ AL 696G 60LL6R
420 GagEe 2868 FaN |

(i) 9694Ya FERIKI6R 64T F19Q TR 8 QILICARE FTACH AAG
Qe an |

A) (i) 6298 0@ G (i) 6298 09
B) (i) 6208 0@ 6 (i) 6208 g
C) (i) 6268 am 6 (i) 6268 am
D) (i) 6298 @ 6 (i) 6268 O«

88) Which among the following options is an example of
pneumatophore?

A) Root on land

B) Root in water

C) Root of Epiphytes
D) Root in Mangroves

Techofworld-in

88) SOIAUQ 6RRE IAIETIETIR @ IR QRILEE?

A) Q15 9969 699

B) o 896 609

C) «dree @ 669
D) ciegia @cea 696
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89) The densities of two substances are in the ratio 2 : 3
and their specific heats are 0.12 and 0.09 CGS units

respectively. The ratio of their thermal capacities per unit
volume is

vae | echofworld.In

B) 04:09
C) 08:09
D) 01:02

89) QA% UGIEa ARQA AQAIS 2:3 ¥e° 6ATINEA FRIAG AR
Qelges! 0.12 98° 0.09 CGS gAY 619w IR Y64
Qoq dgl QIR FAGIQ AFAR 628

A) 03:02
B) 04:09
C) 08:09
D) 01:02

90) Which of the following organelles of a plant cell helps
in oxidative phosphorylation?

A) Nucleus

D o 1 echofworld.In

)
)
C) Golgi bodies
D) Lysosomes

90) 60IG QEQ 6QIEQ §F AAGER AUQ 6RNT 2AFCETE
TACTITENANER ALI F6Q?

A) QiqaQ

B) cimsciadell
C) and &

D) QiasQieaie

WtsApp/Call- 8596976190
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Answer Key
31.A 61.B
32.C 62. B
33.D 63.D
34.B 64. A
35.C 65.D
36. D 66. A
39. € 6l.C
38.C 68.B
39.B 69.B
40.B 70.B
41.B 71. A
42.C 72. B
43. A 73.D
44. D 74. A
45.B 75. A
46.C 76.B
47.A 77.D
48.B 78.B
49.C 79.B
50.B 80.B
5. B 81, B
52. A 82.'R
53 & 3. L
54.D 84.B
55, Da 838D
S64B# 86, C
57.A 87.D
58. A 88.D
59. A 89.C
60. D 90. B
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